'a house comprises the follo

i

*

s

&
S

e
&

N
¥ |'-"-_T.H.‘..$€Irl i



? and 25 tm;ig Totates about its
»speed of 40 rad/sec in a uniform
ude 005 T\ Find the maximum



l.’l'l A LTI "mﬂ AT I 1T Wi |
APk abione WU A vt I e s i)y 1o

o Wi e with B A srrmnb, o 1w, thin rimes
t-“l"“ “r ""i“ﬁ‘l""”’ Ty Il'liihr- e i, ""rl”,,.,;l
A T T N T S

frbisid wnid b
il Vhw
i Nuve o

|mf,"I A il Al TRO0 Birim wndd wovtbiwr sabd 100 1
"" ﬁ'w'l “’ Ih"' ﬂ“ “H“i"'” ”l ”"" ”Hi l.‘l‘”!.llu. ol
b, T0 08 Tl Ahad o onirreint od B A 1noio

L

S ﬁ | OFR mWh, while thie sime virrent 1 ol & flus A
""J(’l ﬂ’ll MW Determng s gt ual e —
LA
28 ool et woon thw coila
1 i
= JJ” Dhotorimine (e avarnge sl s valie of R Nvant in &
i Wirs vy ing simlbansously o de coreen 4 p —

rrant of poah value of 1414 A

- The ventatumen of a ool ik B €2 sod e W B see At
¢ Lo 0 noo, 0 1OV sonigow In gonneeted 4100 1 i e

() ourront al | =4 s

i 0 Iinmn the coil hins o ko B em, 8 width
100 turns, The mugnetic Nux A0 "8¥ In the air gap is
hair wpring provides o e6lling torque of -

digroo defloction of the o) WHBE current will be

I

b of 60 7

y Pl
o

= i

-




i B terminal

vee full load output of 30 kW 1

ratdr
L =

5. Q aati a8 e
A 0 V. The armature and shunt field resislance
% i — . . gec8 Arg
. 100 Q respectively. The iron ang friet10n 088
Caleulate the L
\ \ i i % " -
gener ]1I'|i I', " 3t i
A et
3 | e T
-_ hic ! _'-. ;
Explain dynamic braking of 3-phase induction motor. 15
Explain in brief the following : I5
1 I'L'r:“-‘;'i.;”'“;;_ i{'illi“ att motors
1) Auto transformers
ui) S.C. test of 3-phase transformer
d Explain parallel eperation of two alternators. 15
6. (a)  Explainin brief of the following : J0
(1) Merz-price system of protection
; (it) Short-circuit current for symmetrical faults
(i) Electric welding
How is the rating of a cable determined ? 10
What are the different configurations of BJT ? Explain each with
suitable circuit diagram. 10

Explain electric installation of machines a0 relevant IR rules in
brief. 5






